ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 ARLINGTON, VIRGINIA 22201

CONTRACT RENEWAL

TO:	ARROWHEAD SCIENTIFIC, INC.	ORIGINIAL DATE ISSUED:	JULY 18, 2019	
	11006 STRANG LINE RD.	CONTRACT NO:	19-005-ITB-3	
	LENEXA, KS 66215	CONTRACT TITLE:	CRIME SCENE EVIDENCE SUPPLIES	
THIS	IS A NOTICE OF RENEWAL AND NOT AN ORD	<u>ER. NO WORK IS AUTHORIZED UNTIL </u> ORDER ENCUMBERING CONTRACT FUN		
	COUNTY FORCHASE C	ORDER ENCOMBERING CONTRACT FOR	<u></u>	
	ntract documents consist of the terms and co ments thereto.	nditions of AGREEMENT No. 19-005-ITE	3-3 including any attachments or	
EXPIRE RENEV REMAI COMIV	TIVE DATE: JULY 1, 2021 SE: JUNE 30, 2022 VALS: THIS IS THE 2 ND YEAR RENEWAL OF A PO NING. NODITY CODE(S): 68041, 68047, 68048, 68079 DYEES NOT TO BENEFIT:		3 (12) MONTH RENEWAL PERIODS	
	UNTY EMPLOYEE SHALL RECEIVE ANY SHARE	OR BENEFIT OF THIS CONTRACT NOT	AVAILABLE TO THE GENERAL PUBL	IC.
/ENDC	R CONTACT: BRIANNA MCCREARY	VENDOR TEL. NO.:	<u>(913) 945-1841</u>	
MAIL	ADDRESS: BMCCREARY@ARROWHEADFOREN	SICS.COM		
COUNT	Y CONTACT: IGOR SCHERBAKOV	COUNTY TEL. NO.:	<u>(703) 228-0709</u>	
;	Y CONTACT EMAIL: ISCHERBAKOV@ARLINGTO	DNVA.US		
ONTRA	ACT AUTHORIZATION			
	OUNTY BOARD OF ARLINGTON	ARROWHEAD SCIENTIFIC, INC.		
COUN	TÝ, VÍRGINIA			
PRINT:	SY GEZACHEW	PRINT: Brianna M	1c Crean	
SIGNAT	ure: SGGezachew	PRINT: Byianna M SIGNATURE: Panaum	<u>or McCerel</u>	
FITI E.	PROCLIBEMENT OFFICER	TITLE: ACCOUNT MALIN	int A	

July 14, 2021

EXHIBIT B PRICING SCHEDULE



ATTACHMENT A - BIDDER'S PRICING SCHEDULE

Bidders must submit pricing for the goods set forth in the ITB and fill in the pricing schedules using US Dollars.

For line items that bidders will not bid, place a \$0 in the "unit Price" and add a comment in comlumn "H" of "No bid".

If Bidding "or equal" please provide the detail specs in column "H" and a link to the website if all possible.

Section 1 - Evidence Supplies

No.	Item Description	Part Number	Estimated Yearly	Unit of Measure	Unit		Comment
1	Adult Body Bags	7106W	Quantity 48	The second secon		Price	
	Full length nylon zipper, tested to 400 lb, Medium duty, Size 36" W x 96" L	71004	40	Case	\$347.00	\$16,656.00	
-15	24 Body bags per case						
2	Child Body Bags	7100C	24	Each	tten or	2010.00	
	Full length nylon zipper, Medium duty, Size 36° W $\times 60^{\circ}$ L	71000	24	Each	\$12.95	\$310.80	
3	Infant Body Bags	7100IN	5	Each	444.00	250.00	
	Size 22" W x 30" Ł	710044	3	Each	\$11.86	\$59.30	
4	DOA Sheet / Disposable Cover	7122	100				
	Yellow or white with absorbent layer and protective plastic film, Size 54" W x 80" L	1122	190	Each	\$5.00	\$500 00	
7	Disposable Shoe Covers	6097XL	100	Box	00.00		
	Non-conductive, non-skid, Size Extra Large 10 Pair of gloves per box	0037AL	100	DOX	\$6.00	\$800.00	
8	Twek Disposable Shoe Covers (by pair)	SF0073	100	Foot	41.70		
	The state of the s	SF0013		Each	\$1.75	\$175.00	EVIDENT Item #6060-1 - Twek Shoe Covers - 1 pair
	Hair Covers	6081LW	1	Box	\$11.00	\$11.00	
	100 Per Box					01100	
10	3M Respirators - N95	6058-CS	1	Case	\$159.00	****	
	Case of 160 respirators	9000-00		Case	\$159.00	\$159.00	
11	Protective Gown	6099	1	Box	67.05		
	Elastic wrists, waist ties, disposable, polyethylene coated (5 gowns per box)	Voss		50x	\$7.95	\$7.95	
12	Protective Safety Glasses	6053	10	Each	\$2.50	ASE OF	
13	Cast-Pro Bulk Dental Stone			Laci	\$2.50	\$25.00	
	Buff color, 50 lb box	7009	2	Each	\$49.00	\$96.00	
14	Adjustable Footwear Casting Frame	FORMA					
	Aluminum frame, Size 7" W x 11-19" L	FCF100	2	Each	\$10.65	\$21.30	EVIDENT Item #7135 - Adjustable Footwear Casting Frame
	Stenie Wood Shaft Swabs	KCP180M	1	Case	\$67.00	\$67,00	EVIDENT item #3037CS - 2 000 - Wood Shaft Swabs - 1 000 packs
	Wood shaft 6" L. 2000 Swabs per case	20 ASS 20 AS				772.00	2702.11 Kork #3557 C5 - 2 000 - Wood Sharl Swaps - 1 000 packs
16	Swab Boxes						
	Cardboard box for 6" swabs	KCP196M	1	Case	\$113.48	\$113.48	EVIDENT Item #4083C - 1,000 - DNA-PRO Swab Boxes
	1000 Boxes per case						
17	Stenle Water Ampules	KCP247C	*00	- /			
	3 ml Vial squeeze containers, single use	NOF241G	100	Each	\$16.50	\$1,650.00	EVIDENT Item #4088 - 100 - Sterile Water Ampules
18	Single Use Black Powder	1025SU	50	F			
	Size 1/2 bz. Jar	102000	50	Each	\$2.25	\$112 50	
19	Single Use Magnetic Powder	1039SU	50	Cont	20.05		
	Size 1/2 oz. Jar	103930	50	Each	\$2.25	\$112.50	
20	Evident Black SquitPowder Fingerprint Powder	SP02	50	Cont			
	Fingerprint powder, Size 2 oz. Jar	GFUZ	30	Each	\$5.00	\$250.00	

21	Evident Black Magnetic Fingerprint Powder Magnetic fingerprint powder, Size 128 oz. Jar	BPM1146128	4	Each	\$205.00	\$820.00	EVIDENT item #1040-128 - Black Magnetic Powder - 128 oz.
22	Viper Fiberglass Brush Individually sealed brush, Size 6.5"	1105	30	Each	\$4.00	\$120.00	
23	Single Use Fiberglass Fingerprint Brush Individually sealed brush, Size 7"	1109	30	Each	\$3.15	\$94.50	
	Size 4.75", with container						
25	Standard Magnetic Powder Applicator Aluminum and plastic construction with plunger, clear plastic storage tube	125LM	10	Each	\$10.95	\$109.50	EVIDENT Item#1006 - Basic Magnetic Applicator
26	Large Magnetic Powder Applicator Aliminum and plastic construction with plunger, clear plastic storage tube	125MD	10	Each	\$10.95	\$109.50	EVIDENT Item #1006MD - Large Magnetic Applicator
27	Evident Clear Fingerprint Tape Tape Size 1 5" W x 360" L	144L	200	Each	\$2.95	\$590.00	EVIDENT Item #2001B - Clear 1 1/2" Fingerprint Tape
28	Evident Stretchable Fingerprint Tape Tape Size 2" W x 360" L	2012	40	Each	\$7.05	\$282.00	
29	BVDA Black Geliffers Size 3.5* W x 5" H 10 Geliffers per package	2102	2	Packs	\$9.50	\$19.00	
30	EVDA Black Gellifiers Size 5" W x 7" H 10 Gellifiers per package	2115	2	Packs	\$17.75	\$35.50	
31	BVDA Black Gellifiers Size 7" W x.14" H 2 Gellifiers per package	2100	2	Packs	\$11.75	\$23.50	
32	BVDA White Geliffers Size 7" Wx 14" H 2 Geliffers per package	2101	2	Packs	\$11.75	\$23.50	
	BVDA Transparent Geliffers Sze 7" W x 14" H 2 Geliffers per package	2108	2	Packs	\$11.75	\$23.50	
34	Diff-Lift Lifting Tape with Jar Size 1.5" W x 60" L	144ERJ	2	Each	\$14.21	\$28.42	EVIDENT Item #2020R - Rough Surface 1 1/2" Fingerprint Tape
35	Ninhydrin Fingerprint Reagent Heptane premix, Size 32 oz.	3605	2	Each	\$33.00	\$66.00	
36	Hinhydrin Fingerprint Reagent Methanol premix, Size 32 oz	3603	2	Each	\$27.00	\$54.00	
	NinhydniHT Pump Spray Size, 8 oz / 240 ml	NHT609	1	Each	\$35,75	\$35.75	EVIDENT item #3802/PA2 - Ninhydrin Fingerprint Reagent - 8 oz. Thermal Pap premix
38	Evident Small Particle Reagent Black fingerprint reagent premix. Size 32 oz.	3626	2	Each	\$27.00	\$54.00	
39	Evident Wet Powder Solution Black premix, Size 8 oz	ASD7D	2	Each	\$22.25	\$44.50	EVIDENT item #3185 - Black Wet Powder Solution - 250ml premix
10	Evident Wet Powder Solution White premix, Size 8 oz.	ASD7L	2	Each	\$22.25	\$44 50	EVIDENTitem #3186 - White Wet Powder Solution - 250ml premix
	Bhiestar Blood Reagent Forensic Kit, Size 16 oz. spray	3737	2	Each	\$65.00	\$130 00	
	Bluestar Forensic Tablets - 8	3747	2	Each	\$85.00	\$170.00	
43 E	Basic Yellow 40 Dye Stain Premix, Size 32 oz.	3166	1	Each	\$21.25	\$21.25	

5	RAM Fluorescent Dye Stain	LVS650	1	Each	\$21.00	\$21.00	EMOEST from #2026. Acres D
_	Size 500ml			Louis	52 1.QU	321.00	EVIDENT tem #3639 - Ardrox Dye Stain - 32 oz. Alcohoko premix
6	Evident #442 Fingerprint Ink Pad	442-6	4	Packs	\$90.00	0150.00	
	Black ink, Size 1-3/4" W x 1-1.5" H	446.0	- 4	Packs	\$38.00	\$152.00	
_	6 Ink Pads per package				1		
7	Postmortem Print Spoon	PMNS60	2				
	4 Tab spoon	PMNSOU	2	Each	\$9 25	\$18.50	EVIDENT Item #7198 - Postmortem Print Spoon - 4 tabs
18	Contractor No. 5 th. 1						
10	Postmortern Non-Adhesive Print Spoon Strips Right Hand Strips, Size 1-1/2" W x 8" L	30031R	1	Packs	\$29.00	\$29.00	
	500 Strips per package						
19	Postmortem Adhesive Print Space Strips						
3	Right Hand Strips, Size 1-1/2" W x 8" L	FC543R	2	Packs	\$33.00	\$66 00	EVIDENT Item #30035R - 500 - Adhesive Right Postmortem Strips
-	500 Stros per package				-		
50	Postmortem Adhering Dries Space Char						
ruf .	Postmorters Adhesive Print Spoon Strips Left Hand Strips, Size 1-1/2" W x 8" L	FC543L	2	Packs	\$33.00	\$66.00	EVIDENT Item #30037L - 500 - Adhesive Left Postmortem Strips
	500 Strips per package						
1	Luran Francov Charlest Helitan Physics						
1_	Lynn Peavey Pocket Inkless Elimination Print Kit Black ink, 50 case sheets	LE46	5	Each	\$21.75	\$108.75	
2	5X Magnifies	3192	1	Each	\$33.50	\$33.50	
3	MicroBursi Cyanoacrylate Glue	CHAIN					
	Bulk 16 oz. size to include 4 empty 1 oz. bottles	CNA103	1	Each	\$35.00	\$35.00	EVIDENT frem #3027 - MicroBurst Cyanoacrylate Glue - 16 oz.
4	MicroBurst Glue Fuming Dishes Aluminum dish, Size 57 mm	CNA106C	11	Packs	\$7.50	\$7.50	EVIDENT Item #3032 - MicroBurst Cyanoacrylate Glue - 16 cz.
	100 Dishes per package						Throod pare vary - 10 UL
-						-	
5	MicroBurst Glue Furning Pellets Replacement pellets for MicroBurst Furning Wand	3925-50	1	Packs	\$99.00	\$99.00	
	50 Peliets per package						
6	MicroBurst Fume-A-Wand Kit	3920	1	Each	\$117.50	\$117.50	100
7	MicroBurst Fuel Refili						
		3928	5	Each	\$4.25	\$21.25	
8	MicroBurst Furning Cylinder	3920-FC	1	Each	\$27.67	\$27.67	
9	Electrostatic Lifting Film						
	Foli backed mylar film, Size 12*10/ v 16*11	3055	2	Packs	\$18.00	\$36.00	
	10 Pieces of film per package						
0	Electrostatic Lifting Film						
	Foil backed mylar film. Size 24" W x 36" H	ESP902	2	Packs	\$19.00	\$38.00	EVIDENT Item #3054 - 15 - 24" x 36" Lifting Film Sheets
	15 Pieces of film package						
1	Fingerprint Ink Roller						
	Size 4" roller	FPT2628	1	Each	\$9 00	\$9.00	EVIDENT Item #3002 - 4" Fingerprint link Roller
2	Glass Evidence Jars	ECGJ2	2	Case	\$22.00	\$44.00	EVIDENT Item #4031 - 24 - 2 oz. Glass Jars
	Clear jar with screw on lid, Size 2 oz. 24 Jars per case						The state of the s
3	Glass Evidence Jars	ECGJ4	2	Case	\$25.25	\$50.50	EVIDENT item #4032 - 24 - 4 oz. Glass Jars
	Clear jar with screw on lid, Size 4 oz. 24 Jars per case					322.00	MAIN MAIN MAUSE : 24 - 4 OE GRASS JAFS
4	Glass Evidence Jars	4033	2	Case	\$38.95	\$77.90	
	Clear jar with screw on lid, Size 8 oz. 24 Jars per case					01, 00	
	Clear Plastic Evidence Jars	ECJ1	10	Case	\$4.00	\$40.00	EVIDENT New HARA AN A D
- 1	Clear jar with screw on lid, Size 1 oz.				34.00	340 00	EVIDENT Item #4034 - 10 - 1 oz. Plastic Jars
1	10 Jars per case						
	Clear Plastic Evidence Jars	ECJ2	10	Corr	AE OF	000	
	Clear jar with screw on lid, Size 2 oz. 10 Jars per case	COME	10	Case	\$5.25	\$52.50	EVIDENT Item #4035 - 10 - 2 oz Plastic Jars
+							

67	Clear Plastic Evidence Jars	ECJ4	10	Case	\$6.00	\$60.00	ENADENT have 44007, 40, 0
	Clear jar with screw on lid, Size 3 oz.			Case	90.00	300.00	EVIDENT Item #4037 - 10 - 3 oz. Plastic Jars
_	10 Jars per case						
B	Clear Plastic Evidence Jars			-			
e)	Clear jar with screw on lid, Size 8 oz.	4038	10	Case	\$8.75	\$87.50	
	10 Jars per case		-				
	To so b per care						
69	Metal Evidence Cans	4028L	2	Case	\$11.85	\$23.70	
	Lined metal paint can style with lid, Size One Pint	10202	-	Case	\$11.00	52370	
	6 Lined cans per case				1		
70	Metal Evidence Cans						
10		4029L	2	Case	\$13.75	\$27.50	
_	Lined metal paint can style with lid, Size One Quart						
	6 Lined cans per case						
71	Metal Evidence Cans						
-	Lined metal paint can style with lid. Size One Gallon	4030L	2	Case	\$9.25	\$18.50	
	2 Lined cans per case						
					-		
72	Small Evidence Boxes	4046C	5	Case	\$28.75	\$143.75	
	White cardboard, sliding style box, Size 3/4" x 1.3/4" x 3"			-	7-0110	Q130.10	
	72 Boxes per case		-			-	
					-		
73	Small Evidence Boxes		5	Case	\$33.95	\$169.75	
	White cardboard, sliding style box, Size 1-1/4" x 2" x 3"	4047G		0030	333 23	3109.75	
	72 Boxes per case						
75	Jumbo Paper Bags	-					
-	2 Pty, 50 lb Kraft paper bag with flat bottom, 1/6 Heavy	5	5	Case	\$39.50	\$197.50	EVIDENT Item #5055-50 - 50 - Jumbo Paper Evidence Bags
	Paper, Size 16" x 12" x 35"						The second secon
	25 Bags per case						
6	Firefaut Description Control of Control						
0	Evident ReproCast Extruder Gun, No substitute Two Section 50 mt Silicone cartridge	7208	1	Each	\$59.75	\$59.75	EVIDENT Item #7212 - AccuTrans 75ml Extruder Gun
	INV DEGION OF THE SHICORE CARRIAGE					THE STATE OF THE S	ReproCAST is discontinued
77	F-1-1-6						
77	Evident ReproCast Forensic Silicon, No substitute	7204	12	Each	\$33.25	\$399.00	EVIDENT item #7211B-1 - 1 - Accultrans Silicone - Brown 75ml cartridge
-	Brown, flexible, silicone casting material Size 50 ml Catridges						ReproCAST is discontinued
	orec or its changes						
78	Evident ReproCast Forensic Silicon, No substitute	7205	6	Engh	C00.00	#100 FF	
	Clear, flexible, silicone casting material		-	Each	\$33.25	\$199.50	EVIDENT Item #7211T-1 - 1 - AccuTrans Slicone - Clear 75ml cartridge
	Size 50 ml Catridges						ReproCAST is discontinued
73	Fundant Daniel Cont Holing To						
5	Evident ReproCast Mixing Tips, No substitute Size 50 ml Cartridge	7213	6	Packs	\$26.50	\$159.00	
	40 Tips Per Package						
	- Achago						
0	Sterile Tongue Depressors	3040	5	Case	20.05	044.00	
	Wood depressor, approximately 6" long	55.70	9	V-d58	\$8 25	\$41.25	
-	100 Depressors per case						
1	Snow Print Wax						
-	Aerosol spray, Size 250 ml	SP1000	4	Each	\$12.50	\$50.00	EVIDENT Item #3155 - Snow Print Wax
2	Hexagon OBTI - Human Blood Venfier	3777	10	Packs	\$85.00	0050.53	
	Two part blood test for human blood		10	Packs	585.00	\$850.00	
-	24 Tests per package						
3	Siania Disposable Sealests						
7	Stenie Disposable Scalpels individually wrapped. Size #11 Pointed	7098	4	Packs	\$9.95	\$39.80	
	10 Scalpe's per package						
4 1	Disposable Pipettes	3130	2	Case	\$15.00	600.00	
- 1	DPE - Low Density Polyethylene, Size 5 ml			Case	\$15.00	\$30.00	
- 5	500 Pipettes per case						
5 8	Penneshia Duestina						
1	Disposable Pipeties DPE - Low Density Polyethylene, Size 23 ml	3130L	5	Case	\$19.95	\$99.75	
E	Extra long, approximately 12" in length						
	00 Pipettes per case						The state of the s
-							
3 [Disposable Tweezers Plastic, single use	7061-250	2	Case	\$57.50	\$115.00	

_	250 Tweezers per case	VIII.01001011111111111111111111111111111	plillen - out	April	101011		
90	Stenie Disposable Tweezers	7067	2	Case	\$54.75	6400.50	
	Plastic, individually wrapped, single use	7001		Case	304 /5	\$109.50	
	100 Tweezers per case						
91	Evidence-Pro Security Stips w/ Date and Initials	4142R	2	D. d.	****		
	"Evidence Do Not Tamper"	91428	2	Packs	\$9.25	\$18.50	
	Red strip with black letters, serrated security edge						
_	Size 6-1/2" L x 1-1/4" W 100 Strips per package						
	100 Outpe per package						
92	Evidence-Pro Security Tape	4002R	4	Each	\$9.75	\$39.00	
**********	"Evidence"			- Carrerr	93.10	305 00	
	Red tape with black letters and a white writing line						
_	Serrated security edge						
	Size 1-3/8" W x 108" L						
93	Crime Scene Chalk	7046W	10	Packs	60.00	400.00	
	White, Size 1" x 4"	104011	10	Pauks	\$2.00	\$20.00	
	3 Pieces of chalk per package						
95	EVI-PAC Standard ID Tents						
33	Yellow, ID Tent Sequence 1-20	IDTC-0120Y	20	Each	\$42.75	\$855.00	EVIDENT Item #CUT0120Y - Cut-Out LD. Photo Markers - Numbers 1-20
	Flat lower section includes metric scale						National F20
-							
96	EVI-PAC Standard ID Tents	IDTC-2140Y	10	Each	\$42.75	\$427.50	EVIDENT Item #CUT2140Y - Cut-Out I.D. Photo Markers - Numbers 21-40
	Yellow, ID Tent Sequence 21-40 Flat lower section includes metric scale						- Notice State of the Control of the
	- Service address recorded triedle State					-	
97	EVI-PAC Standard ID Tents	IDTC-4160Y	10	Each	\$42.75	\$427.50	EMPENT No. (O) TO (O)
_	Yellow, ID Tent Sequence 41-60			Liver	972.13	3421.00	EVIDENT item #CUT4160Y - Cut-Out I.D. Photo Markers - Numbers 41-60
_	Flat lower section includes metric scale						
98	EVI-PAQ Standard ID Tents	IDTC-6180Y	10	Each	\$42.75	Acomes	
	Yellow, ID Tent Sequence 61-80	10.0.001	10	Eacil	\$42.75	\$427.50	EVIDENT #em #CUT6180Y - Cut-Out I D Photo Markers - Numbers 61-80
	Flat lower section includes metric scale						
99	EVI-PAC Standard ID Tents or equivalent					***************************************	
33	Yellow, ID Tent Sequence 81-100	IDTC-8100Y	10	Each	\$42.75	\$427.50	EVIDENT Item #CUT8100Y - Cut-Out LD Photo Markers - Numbers 81-100
	Flat lower section includes metric scale						
100	EVI-PAO ID Tent Kit wicase, Cut-Out Style	IDTCK-0160Y	20	Each	\$150.75	\$3,015.00	EVIDENT Item #CUT0160YK - Cut-Out I.D. Photo Markers - Numbers 1-60 Kir
	Yellow, ID Tent Sequence 1-60			-	410010	40,013 00	case
	Flat lower section includes metric scale						
101	Cut-Out Photo Evidence Marker Numbers						
	Yellow, ID Tent Sequence 1-20	CUTO120Y	20	Set	\$42.75	\$855.00	EVIDENT Item #CUT0120Y - Cut-Out D Photo Markers - Numbers 1-20
	Flat lower section includes metric scale						
102	Cut-Out Photo Evidence Marker Numbers	CUTO160YK	20	Set	\$150.75	\$3,015 00	EVIDENT Item #CUT0160YK - Cut-Out LD. Photo Markers - Numbers 1-60 Kit
	Yellow, ID Yent Sequence 1-60 Kit			-	0.100.10	30,013 00	case case
-	Flat lower section includes metric scale						
103	Cut-Out Zippered Case						
	60 Marker Capacity	CUTZC1-60	20	Each	\$32.00	\$640.00	
			- 100				
104	Mark-n-Doc, Cut Out Style	MDM120	20	Each	\$42.75	\$855.00	EVIDENT Item #CUT0120Y - Cut-Out I D Photo Markers - Numbers 1-20
	Yellow ID Tent Sequence 1-20 Flat lower section includes metric scale					40000	Photo Markers - Numbers 1-20
05	Mark-n-Doc Storage bag	MDBAG	20	Each	\$21.25	\$425.00	CMOCLET MAN AND AND AND AND AND AND AND AND AND A
06	Photomacourach & Cont.			EdCH	92:20	3925.00	EVIDENT Item #807-FBAG20 - Folding Marker Zippered Case - 20 capacity
VG	Photomacrographic Scale 4" x 4" L-Shaped ABFO Style Scale	5120	- 5	Each	\$2.50	\$12.50	
	White scale with photo gray impant						
	A STATE OF THE PARTY OF THE PAR						
ur	Photo Evidence Scale	PPS400	15	Packs	\$5.15	\$77.25	EVIDENT Item #5087W - 10 - White 6" Photo Scales
	Plastic, non-glare, white scale, measurements in standard and metric. Size 6" Long						THE TOTAL STATE OF THE OF PROTO SCALES
	10 Scales per package						
op -	Photo Fuldama Paula						The state of the s
10 8	Photo Evidence Scale	PPS401	15	Packs	\$5.15	\$77.25	EVIDENT Item #5087G - 10 - Gray 6" Photo Scales

· Post			-	TOTAL:		\$41,295.22	
5	ize 3°W x 1000° L, 2 mi minimum thickness Rolls per case without dispenser box						
14	Asricade Tape / Banner Guard Police Line - Do Not Cross" oliyethylene yellow tape with black lettering	4012-CS	15	Case	\$68.00	\$1,020.00	
0	iberglass Tape Measure Open reel, standard measurement, Size 200'	SK701	2	Each	\$42.50	\$85.00	EVIDENT Item #5132 - 200/60m Fiberglass Tape Measure
0	Fiberglass Tape Measure Open reel_standard measurement, Size 100'	SK700	2	Each	\$18.25	\$36.50	EVIDENT Item #5131 - 100/30m Fiberglass Tape Measure
C	iberglass Tape Measure Open reel, standard measurement, Size 50°	5130	2	Each	\$14 50	\$29.00	
18	Standard feet and inch measurement Stand alone 6.5' measuring rod					300.00	
F	Pocket Rod	5127	2	Each	\$17.50	\$35.00	
93 03	Steel Carpenters Tape Measure Standard measurement, Size 1" W x 30" L.	5124	2	Each	\$13.50	\$27.00	
18	Standard ruler imprint repeats every 12" Size 1-1/4" x 30"	5291					
- den	Large Ruier Scale Tape Black numbers on yellow adhesive background	PPS101	4	Each	\$9.00	\$36.00	
-	2 Horizontal sticks numbered left to right / right to left 2 Vertical sticks numbered top to bottom / bottom to top						
-	4 · 48" Flexible PVC sticks Black numbers on yellow background	5091SS	2	Each	\$70.00	\$140.00	
	Size 15 cm x 30 cm Supersticks with Case						
	Reversible Footwear and Tire Track Photo Scales Flat whyl, L-Shaped scale, non-reflective White with black printing and black with white printing	PPS600	2	Each	\$5.25	\$10.50	EVIDENT item #5094 - Reversible Footwear & Tire Track Scale
1	Measurement in metric, space for additional information	TSCL50M	1	Each	\$78.20	\$78.20	
	Measurement in inches, space for additional information 2500 - 2* Adhesive Pad Photo Scales					\$78.20	
5	50 Scales per package 2500 - 2" Adhesive Pad Photo Scales	TSCL50	1	Each	\$78.20	\$70.0C	
	Adhesive Photo Scale Stick-on, non-glare, white scale, measurements in standard and metric, Size 2" x 50 mm	5088W	5	Pack	\$4.50	\$22.50	
	standard and metric, Size 2" x 50 mm 50 Scales per package						
3	Adhesive Photo Scale Stick-on, non-glare, black scale, measurements in	5088B	5	Pack	\$4.50	\$22.50	
	Stick-on, non-glare, gray scale, measurements in standard and metric, Size 2" x 50 mm 50 Scales per package	30000	5	Pack	\$4.50	\$22.50	
2	and metric, Size 3" Long Adhesive Photo Scale	5088G	-				
1	Credit Card Size Scale Plastic, non-glare, gray scale, measurements in standard	5138	20	Each	\$1.70	\$34.00	
	Plastic, non-glare, gray scale, measurements in standard and metric, Size 6" Long 10 Scales per package	1970401	2	Packs	\$13.50	\$67.50	EVIDENT Item #5151-10 - 10 - Gray 6" Magnetic Photo Scales
0	10 Scales per package Magnetic Photo Evidence Scale	MR401	5	Protes			
9	Photo Evidence Scale Plastic, non-glare, black scale, measurements in standard and metric, Size 6" Long	PPS403	15	Packs	\$5 15	\$77.25	EVIDENT Item #5087B - 10 - Black 6" Photo Scales
_	and metric, Size 6" Long 10 Scales per package						

Section 2 - Other Items at a Discount

-	Item No.	Manufacturer / Item Description	% Discount
1	35	Discounts varies per product. Please request a quote	Diacount
	36	for further discounted pricing	
E.	37	DOCUMENT OF THE PROPERTY OF TH	
ě	38		

Catalog / Website: www.ShopEVIDENT.com